
ASSEMBLY INSTRUCTIONS

Page 01 of 04

Hardware List

Component List

B x 4
C x 2

(M4 x 50)A x 2

X1

X1

X1

X1

X1

E x 2
F x 2

(M4 x 30)
G x 16

(M6 X 35)
H x 16

(M6 X Ø10)
I x 16

(M6 X Ø13)

Z x 1
(M4)

D x 6
(Ø8 X 30)

K x 2
(M4 x 20)

1

2

4

5

3

X13



Page 02 of 04

D

X2

X1

3

4



Page 03 of 04

G H I

Z

EF

1

2

3

3

4
5



Page 04 of 04

Wall

C

B

B

K

A

Wall

"IMPORTANT"
1. Wall fixings are supplied. Please secure the unit to your wall
using these wall fixing hardwares.
2. Before drilling into your wall check for wires or electric cables.


	IVNA8064 - Book Desk - AI - Nov 22, 2019.0.dwg Page 01 (1)
	IVNA8064 - Book Desk - AI - Nov 22, 2019.0.dwg Page 02 (1)
	IVNA8064 - Book Desk - AI - Nov 22, 2019.0.dwg Page 03 (1)
	IVNA8064 - Book Desk - AI - Nov 22, 2019.0.dwg Page 04 (1)

